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Step (n)
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tn

0
0.025
0.05
0.075
0.1
0.125
0.15
0.175
0.2
0.225
0.25
0.275
0.3
0.325
0.35
0.375
0.4
0.425
0.45
0.475
0.5
0.525
Q.55
0.575
0.6
0.625

y_n
3
3.043301
3.087093
3.131372
3.176138
3.221388
3.267121
3.313335
3.360?28
3.407198
3.454844
3.502?63
3.551556
3.600619
3.650152
3.700153
3.750621
3.801%53

3.85295
3.904809
3.957129
4.009909
4.063147
4.116842
4.170994
4.225601

m_n=f(t_n,y_n) Delta_t=h y_(n+1)
1.732050808 0.025 3.043301
1.751656722 0.025 3.087093
1.771183979 0.025 3.131372
1.790634605 0.025 3.176138
1.810010539 0.025 3.221388
1.829313646 0.025 3.267121
1.848545714 0.025 3.313335
1.867708462 0.025 3.360028
1.886803544 0.025 3.407198
1.905832548 0.025 3.454844
1.924797006 0.025 3.502963
1.943698392 0.025 3.551556
1.962538127 0.025 3.600619
1.98131758 0.025 3.650152
2.000038073 0.025 3.700153
2.01870088 0.025 3.750621
2.037307234 0.025 3.801553
2.055858324 0.025 3.85295
2.074355299 0.025 3.904809
2.092799271 0.025 3.957129
2.111191315 0.025 4.009909
2.129532473 0.025 4.063147
2.147823751 0.025 4.116842
2.166066125 0.025 4.170994
2.184260541 0.025 4.225601
2.202407915 0.025 4.280661

Qgug




%\O Step(n) t.n y_n
0 -2

0

1 0.0125 -1.99
2 0.025 -1.975;586
3 0.0375 4.96?57
4 0.05 —1.955?13
5 0.0625 -1.94854
6 0.075 -1.9%78
7 0.0875 -1.92691
8 0.1 -1.91585
9 0.1125 —1.90?63
10 0.125 -1.89?25
11 0.1375 ~1.8§17
12 0.15 -1.86?97
13 0.1625 4.852%07
14 0.175 4.%46
15  0.1875 -1.83%74
16 0.2 —1.821‘129
17 0.2125 —1.80@65
18 0.225 -1.79582
19  0.2375 -1.78279
20 0.25 -1.76?56
21 0.2625 -1.75612
22 0.275 -1.74%46
23 0.2875 -1.72?59
24 0.3 -1.7145
25 0.3125 -1.70017

-3
o

0.8
0.811450374
0.823096279

0.83494422
0.847000994
0.859273704
0.871769781
0.884496995
0.897463484

0.91067777
0.924148781
0.937885882
0.951898892
0.966198122
0.980794396

0.99569909
1.010924165
1.026482203

1.04238645
1.058650855
1.075290123
1.092319759
1.109756126
1.127616501
1.145915142
1.164683351

0.0125
0.0125
0.0125
0.0125
0.0125
0.0125
0.0125
0.0125
0.0125
0.0125
0.0125
0.0125
0.0125
0.0125
0.0125
0.0125
0.0125
0.0125
0.0125
0.0125
0.0125
0.0125
0.0125
0.0125
0.0125
0.0125

m_n=f(t_n,y_n) Delta_t=h y (n+1)

-1.99
-1.97986
-1.96957
-1.95913
-1.94854

-1.9378
-1.92691
-1.91585
-1.90463
-1.89325

-1.8817
-1.86997
-1.85807

-1.846
-1.83374
-1.82129
-1.80865
-1.79582
-1.78279
-1.76956
-1.75612
-1.74246
-1.72859

-1.7145
-1.70017
-1.68561
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Cb Step(n) t.n y.n
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0
0.05
0.1
0.15
0.2
0.25
0.3
0.35
0.4
0.45
0.5
0.55
0.6
0.65
0.7
0.75
0.8
0.85
0.9
0.95
1
1.05
1.1,
1.5
1:2
1.25

1
1.1
1.20R5
1.30775
1.416025
1.527628
1.64289
1.762179
1.885897

'2.014487

2.148436
2.288279
2.4346P7
2.588068
2.7493?5
2.919312
3.0987r13
3.288618
3.489979
3.703977
3.93187/5
4.1750F2
4.435069
4.7135[76
5.012433
5.3336/6

2.

2.05

2.105

2.1655
2:23205
2.305255
2.3857805
2.47435855
2.571794405
2.678973846
2.79687123
2.926558353
3.069214188
3.226135607
3.398749168
3.588624085
3.797486493
4.027235142
4.279958657
4.557954522
4.863749975
5.200124972
5.570137469
5.977151216
6.424866338
6.917352972

m_n=f(t_n,y_n) Delta_t=h
0.0500

0.05
0.05
0.05
0.05
0.05
0.05
0.05
0.05
0.05
0.05
0.05
0.05
0.05
0.05
0.05
0.05
0.05
0.05
0.05
0.05
0.05
0.05
0.05
0.05
0.05

y_(n+1)

1.3
1.2025
1.30775
1.416025
1.527628
1.64289
1.762179
1.885897
2.014487
2.148436
2.288279
2.434607
2.588068
2.749375

2.919312

3.098743
3.288618
3.489979
3.703977
3.931875
4.175062
4.435069
4713576
5.012433
5.333676
5.679544

g




